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Based On What Holiday was /79137 Modelled?

While commenting on '22 P32 of NAYN N5%313 Professor Ben Zion Lurie in his book on
P3P0 09238 sets out to uncover the earliest reason for establishing the holiday of 213,
Based on the language of ’12 M0 of the M1 he concludes that the holiday was initially
established to celebrate the M7 N2IM. During the course of arriving at his answer, he
notes that in his opinion, 31 is modelled on MM M. I present to you the MI¥HD
and commentary on the T13 and the sources on which Professor Lurie relied in finding
that 721317 is modelled on M2DM 7.
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5. Professor Lurie entitles the commentary: N9/2J.
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The primary source upon which Professor Lurie bases his opinion that 723131 is modelled
on MDD M is RY2PMA TDD, a part of the Apochrypha:
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That M2 is modelled on MWD AN is not far fetched. It begins with the fact that both
holidays run for eight days. That we recite the complete %51 on each day of 217 but not
on each day of MDD may have been based on 7317 being modelled on M0 3. More
importantly, M0 7 is the holiday in which the M2M3 played a central role:
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Note that what was recited while performing the MBPT on MWD is fitting to recite upon
winning a military victory.

The question that is not answered by R'22!27 79D is the following: did they celebrate 3

MM after winning their military victory because they were creating a holiday that was to
be modelled after MO A7 or were they celebrating MIDM A7 simply because it was the
holiday closest in time to when the military victory took place and they were celebrating 1

MO as DMWY, to make up for not celebrating it at its correct time.

That M2 is modelled on M2DM M may explain the following MAEHA:
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The MW contains a difficult concept. Why did 971 choose to give 121N a role to play
in fulfilling the MV of BN when it was a holiday that was established only two
hundred years before the destruction of the Second &P N%3. What was the rule before
M1 was established. The answer may be that 231 was allowed to play a role in
tulfilling the MY of BYM2%2 because MM was modelled on MWD M.
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